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Mayor Bill Stankiewicz City of Hogansville

David Milliron, City Manager
Lisa Kelly, City Clerk
Jeff Todd, City Attorney

400 E Main St
Hogansville GA 30230-1196
706-637-8629 | cityofhogansville.org

TO: Mayor & Council
FROM: City Manager /\/
DATE: Monday, May 21, 2018

SUBJECT:  Proposed 2018-2019 Hogansville City Budget

Attached is a copy of the proposed 2018-2019 Hogansville City Budget. Sufficient revenues necessary to meet
the needs and requirements of the General, Capital and Enterprise Funds continues to be problematic. We have
some collective work to do. To balance the budget, the following assumptions, among others, were necessary:

Nearly all capital projects and purchases over $5,000 have been eliminated from the proposed budget
unless specifically funded by grant or SPLOST dollars or tied to revenue generation (e.g. 4kv to 12kv
conversion, five-year replacement of natural gas meters, electric meter upgrades and replacement, etc.)
All overtime dollars have been eliminated except public safety

Utility revenues have been increased — 10 percent for Electric and 5 percent each for Sanitation, Water,
Wastewater and Natural Gas — to cover expenses, debt service, capital projects and transfers to the
General Fund, though are only tentative placeholders until the Council makes a final determination on
utility rates

Staff pay raises were calculated at three percent and benefit costs were minimally expensed as our new
insurance broker seeks to provide better employee benefits at a reduced cost

Two general maintenance positions and associated expenses were eliminated

The 2018 preliminary Troup County tax digest suggests Hogansville will generate $423,755 from taxes
levied on real and personal property, less all applicable exemptions. However, Hogansville has only

“booked 87 percent of the 2017 final tax digest and therefore has lowered its expectations for the revenue

in the next fiscal year. The city will receive revenue from back taxes, but the total amount is unknown.
Estimated revenues from probation services has been reduced to better align with recent changes in
Georgia law

Estimated revenues from fines, forfeitures and court fees has been reduced to better align with overall
enforcement and staffing levels

Not funded for lack of revenues are Phase II of the fire hydrant replacement project, the chlorine
injection water treatment project, standpipe maintenance and repairs, purchase of vehicle replacements,
purchase of backhoe to replace rental unit, etc.

Seven staff positions have been converted to FSLA Exempt status and no longer will be eligible for
overtime, in accordance with current federal DOL guidelines.

The proposed budget currently shows a 2.3 percent increase over the prior year’s adopted budget due to
increased grant revenues and expenses. The General Fund revenues and expenses have been cut by a

proposed 14.7 percent.
#H##



FY 2018-19 vs. 2017-18 Budget

GENERAL FUND REVENUE 2018/2019 2017/2018 | Percent Change
: ACCOUNT Proposed Budget Budget

REVENUE - GENERAL FUND Lk
0001-00302-511 Property Tax - Current Year S 372,140 | S 350,000 | 6.3%
0001-00304-511 Property Tax - Prior Years S 33,000 | $§ 74,000 -55.4%
0001-00305-511 Title Advalorem/Motor Vehicle Tax S 56,758 | 60,000 -5.4%
0001-00307-511 Insurance Premium Tax ) 201,908 | $ 190,000 6.3%
0001-00308-511 Real Estate Transfer Tax S 1,310 | $ 1,250 4.8%
0001-00310-511 Local Option Sales Tax S 370,337 | $ 552,000 -32.9%
_0001—00311-511 Financial Institution Tax S 3,348 | § 2,500 33.9%
0001-00313-511 Southern Bell Franchise Tax S 2,520 | $ 2,500 0.8%
0001-00314-511 Cable TV Franchise Tax ' 1$ 3,016 | $ 2,000  50.8%
0001-00315-511 Georga Power Franchise Tax S 39,839 | $ 40,000 —0.4%_
0001-00316-511 Intangible Tax S 1,558 | $§ 3,000 -48.1%
0001-00319-511 Diverse Power Franchise Tax S 20,571 | $ 29,000 -29.1%
0001-00320-511 Energy Excise Tax S 25,298 | $ 25,000 1.2%
0001-00321-511 Penalties & Interest on Taxes S 71| S 100 -28.9%
0001-00331-511 Admin-Utility Fund Franchise Tax S 237,048 | S 248,102 -4.5%
- TAXES | $ 1,368,722 | $ 1,579,452 13.3%
0001-00309-511 Beer & Wine Taxes S 67,714 | § 85,000 -20.3%
0001-00341-511 Building Permits Income S 10,874 | S 43,400 -74.9%
0001-00343-511 Other Permits Income S 3,074 | S 1,500 104.9%
0001-00344-511 Business License Income ) 38,689 | S 50,000 -22.6%
0001-00354-511 Occupation Tax Admin Fee ) 1,920 | $ 2,500 -23.2%
LICENSES AND PERMITS | $ 122,270 | $ 182,400 -33.0%
0001-00317-511 In Lieu Taxes-Housing Authority S 23,346 | § 21,750 7.3%
INTERGOVERNMENTAL REVENUES S 23,346 | $ 21,750 7.3%
0001-00345-511 Politician Registration Fees $ - S 900 -100.0%
CHARGES FOR SERVICES | $ - S 200 -100.0%
0001-00388-511 Admin - Contributions to GF S 333 | $ 500 -33.3%
CONTRIBUTIONS AND DONATIONS ) 333 | $ 500 -33.3%
0001-00318-511 Railroad Equipment Car S - S 1,000 -100.0%
| 0001-00322-511 Admin - Interest Income $ 184 | $ 500 -63.1%
0001-00355-511 ATT Cell Tower Lease ) 13,200 | S 13,200 0.0%
0001-00391-511 Admin - Misc Income ) 14,005 S 8,000 75.1%
0001-00392-511 Sale of Surplus Equipment ) 483 | $ 1,000 -51.7%
0001-00394-511 Service Charge on Return Checks S 3,640 | § 3,700 -1.6%
MISCELLANEOUS REVENUE | $ 31,512 | $ 27,400 15.0%
TOTAL REVENUES| $ 1,546,184 | $ 1,812,402 -14.7%




- City of Hogansville

») 400 East Main Street
Hogansville, Georgia 30230
706-637-8629

Below is the proposed 2018/2019 Budget Schedule:

Staff Only

Through 05-21-2018 Data Input

Mayor / Council / Staff

05-21-2018 7:00pm  Budget available to Mayor & Council
Budget available to the Public

06-04-2018 7:00 pm  Public Hearing - Budget
Regular Council Meeting

06-18-2018 10:00am Public Hearing - Budget

7:00pm  Public Hearing — Budget
Regular Council Meeting



GENERAL

OTHER FUNDS

ENTERPRISE

5:35 PM, 5/21/2018

CITY OF HOGANSVILLE

DESCRIPTION

PROPOSED BUDGET SUMMARY

All Funds Summary

General Fund Revenues
Administrative Expenses

Police Revenue and Expenses

Drug Funds Revenue and Expenses
Streets Revenue and Expenses
Garage Expenses

Intergovernmental-Other Agencies
Hotel Motel Revenue and Expenses

Grants Revenue and Expenses

2006 SPLOST Revenue and Expenses
2013 SPLOST Revenue and Expenses
2019 SPLOST Revenue and Expenses

Electric Revenue and Expenses

Gas Revenue and Expenses

Water Distribution Revenue and Expenses
Walter Filter Plant Expenses

Sewer Collection Revenue and Expenses
Sewer Waste Water Treatment Plant Expenses
Sewer Sprayfield Expenses

Sanitation Revenue and Expenses

Cemetery Revenue and Expenses
NonOperating/Debt Revenue and Expenses

Payroll Summary
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